23

70|

&mﬁmt+mm FEFA-3EIE 4 # R

KERRBEHIEELA HB T £ #H %

ARIRBHIT TV,
|arrrer

A% ) R

L. XMEféqxﬁyS'

(a) 7EB5 P(1,0,2) B"Jﬁﬁ[ﬂiﬁ@i (Unit Normal Vector 7 )(1053)

(b) 7E85 P(1,0,2) f9Divergencef (Div f) (1059

2 REFIER Y - 2)/ +y = e +x (209)

Initial Conditions: y(0) = l,y'(O) =()

2 REHER2xy) — y* +x7 =0, (209)

Hint: Set y = (Z)
X

43K T 5B £(r) Z Laplace Transform F(s): (2053)

| 1) f=1,(0<t<3)
(2)
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5. SKABIBH L Ordinary BquationsZSEME y, (1), y, (1), For ¢ =0~ 2 (209))

o)
dt
dy,
—~2=4-0.3y,—-0.1
dr Ya. N

=-0.5y,




